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Phys 221 (Section 8)
Quiz #2

1. A projectile is fired from ground level, with an initial
speed vy = 50T, directed at 45" above the horizontal. 1t
is fired toward a tall building, the launcher is 200 m from

its base. (See figure). v,= 50% e - .
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b) At what height will the projectile strike the building?
Vse He  y  equadom, r't'l')‘ et o

e (s0%)(an 450t - kat' = (34 %It - 45T
Fiad He deles D'E L at t= S.bhs [Hima ,g -”"f""'*:'

) . el
ye (354 3)(54s) - (43 R)(skky)" = 430 w] Thu s the hacgld of
—_

wmlch e pajechile bl ol 1 g

1-

2. A 3.0 kg mass is pulled up 8 30° inclined surface by a
foree of 40 N. ('This foree is directed parallel to the ineline )

a) Il the surface is smooth (1.e. frictionless) what is the
acceleration of the mass? o o #, Llied are at sizwn
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! h) Ifinstead it is a rough inclined surface and the acceleration is found to be o = 5935, what is the coeflicient

of kinetie friction for the block and surface?
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